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cAan bf]od ;Ld rfxf/

v]t 42000 40000 38000 36000
kfvf] 34000 32000 30000 28000

l;=g+=
;fljssf] 

uf=lj=;=

rf}tf/f ;f+ufrf]su(L gu/kflnsf

1

rf}tf/f– s'lj)*] ;*s;+u hf]l*Psf ;fljs s'ljG*] j*f g+= 2, 3, 4, 7 / 9 xfn rf}tf/f ;f+ufrf]su(L g=kf= j*f g+= 4

sf #*]/L hUuf k|lt /f]kgL ?= 20,00,000.– -jL; nfv dfq_

d]nrf}/–e}+;] ;*s;+u hf]l*Psf rf}tf/f ;f+ufrf]su(L g=kf= j*f g+= 7, ;fljs Ov'{ / sbdjf; uf=lj=;=sf #*]/L hUuf

k|lt /f]kgL ?= 16,00,000.– -;f]x| nfv dfq_

o; gu/kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 16,00,000.– -;f]x| nfv dfq_

o; gu/kflnsfsf] j*f g+= 5 If]q leq uf]/]^f] jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 8,00,000.– -cf& nfv dfq_

:ofpn]

jgb]p–rf}tf/f ;*ssf] ;fljs rf}tf/f uf=lj=;= j*f g+= 5 / 8 xfn rf}tf/f ;f+ufrf]su(L g=kf= j*f g+= 5 sf jhf/ If]q
leq ;f] ;*s;+u hf]l*Psf bfof+jfof+sf #*]/L hUuf k|lt /f]kgL ?= 50,00,000.– -krf; nfv dfq_

jgb]p–rf}tf/f ;*ssf] ;fljs rf}tf/f uf=lj=;= j*f g+= 1, 2, 4 / 9 xfn rf}tf/f ;f+ufrf]su(L g=kf= 5 sf If]q leq ;f]
;*s;+u hf]l*Psf bfof+jfof+sf hUuf #*]/L k|lt /f]kgL ?= 30,00,000.– -tL; nfv dfq_

jgb]p–rf}tf/f ;*sdf kg]{ ;fljs ;f+ufrf]s uf=lj=;= j*f g+= 1, 2, 4, 5, 7, 8 / 9, ;fljs O{v'{ uf=lj=;= j*f g+= 1,
5, 6 / 9, ;fljs ;fg'l;?jf/L j*f g+= 6 xfn rf}tf/f ;f+ufrf]su(L g=kf= j*f g+= 10, 11, 12, 8, 7 sf] If]q leq kg]{ ;f]
;*s;+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 30,00,000.– -tL; nfv dfq_

c/lgsf] /fhdfu{ ;+u hf]l*Psf] ;fljs ;f+ufrf]s / sbdjf; xfn rf}tf/f ;f+ufrf]su(L g=kf= j*f g+= 9, 10, 11, 12 sf]
hUuf k|lt /f]kgL ?= 40,00,000.– -rfln; nfv dfq_

rf}tf/f–:ofpn] ;*s;+u hf]l*Psf ;fljs rf}tf/f, :ofpn], lkkn*f+*f xfn rf}tf/f ;f+ufrf]su(L g=kf= j*f g+= 1, 6, 5

sf #*]/L hUuf k|lt /f]kgL ?= 20,00,000.– -jL; nfv dfq_

rf}tf/f–d]nDrL ;*s;+u hf]l*Psf rf}tf/f zlxbrf]s b]lv ;fljs lkkn*f+*f uf=lj=;= xfn rf}tf/f ;f+ufrf]su(L g=kf= 5

/ 6 sf] l;dfgf ;Ddsf #*]/L hUuf k|lt /f]kgL ?= 20,00,000.– -jL; nfv dfq_

rf}tf/f–l;kf#f^ ;*s;+u hf]l*Psf rf}tf/f a;kfs{ b]lv ;fljs ;fg'l;?jf/L j*f g+= 1, 2, 3, 4, 5 / 9 sf] xfn rf}tf/f

;f+ufrf]su(L g=kf= j*f g+= 7 sf #*]/L hUuf k|lt /f]kgL ?= 20,00,000.– -jL; nfv dfq_

k|lt /f]kgL
hUufsf] ljj/0fgu/kflnsf

xfn sfod 

j8f g+=

1

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

rf}tf/f 
;f+ufrf]su(L 
gu/kflnsf

lg)f{oM–

1= cfufdL cf=a= 2074.75 sf] nflu l;Gw'kfNrf]s lhNnf leqsf hUufx?sf] /lhi^«]zg kfl/t x'g] lnvtx?df Go"gtd y}nL
c+s sfod ug]{ ;DaGwdf %nkmn x'+bf rng rNtLsf] d'No / cf=a= 2073.74 sf] nflu sfod ul/Psf] Go"gtd d'Nofs+gdf
lgs} &'nf] cGt/ ;d]t b]lvg cfPsf]n] ;f] cGt/ gx'g] ul/ tklzn jdf]lhd Go"gtd y}nL c+s sfod ug]{ ul/ d'No lgwf{/)f
ul/of] . 

tklzn

o; gu/kflnsfsf] j*f g+= 4, 6, 7, 8, 9, 10, 11, 12, 13 / 14 If]q leq uf]/]^f] jf^f];+u hf]l*Psf #*]/L hUuf k|lt

/f]kgL ?= 5,00,000.– -kf+r nfv dfq_

o; gu/kflnsfsf] j*f g+= 1, 2 / 3 If]q leq uf]/]^f] jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg

nfv dfq_



v]t 50000 46000 42000 38000
kfvf] 40000 36000 32000 28000
v]t 50000 46000 42000 38000
kfvf] 40000 36000 32000 28000
v]t 90000 80000 70000 60000
kfvf] 60000 54000 50000 46000
v]t 90000 80000 70000 60000
kfvf] 60000 54000 50000 46000
v]t 90000 80000 70000 60000
kfvf] 60000 54000 50000 46000
v]t 90000 80000 70000 60000
kfvf] 60000 54000 50000 46000
v]t 60000 54000 50000 46000
kfvf] 40000 36000 34000 32000
v]t 60000 54000 50000 46000
kfvf] 40000 36000 34000 30000
v]t 70000 66000 64000 60000
kfvf] 40000 36000 34000 30000
v]t 70000 66000 64000 60000
kfvf] 40000 36000 34000 30000
v]t 70000 66000 64000 60000
kfvf] 40000 36000 34000 30000
v]t 62000 58000 54000 50000
kfvf] 42000 38000 34000 30000
v]t 62000 58000 54000 50000
kfvf] 42000 38000 34000 30000

1

&'nf] l;?jf/L

10 ;f+ufrf]s

2 jtf;]

sbdjf;

s'lj)*]

;f+ufrf]s

12 ;f+ufrf]s

11

rf}tf/f

lkkn*f+*f

;fg'l;?jf/L

3

4

5

6

7

8

9

13

14 &'nf] l;?jf/L

jtf;]

O{v'{

rf}tf/f 
;f+ufrf]su(L 
gu/kflnsf



1=

2=

3=

4=

5=

6=

7=

8=

cAan bf]od ;Ld rfxf/

v]t 34000 32000 30000 28000
kfvf] 26000 24000 22000 20000
v]t 40000 38000 36000 34000
kfvf] 30000 28000 26000 24000
v]t 60000 54000 50000 46000
kfvf] 42000 38000 34000 30000
v]t 60000 54000 50000 46000
kfvf] 42000 38000 34000 30000
v]t 50000 46000 42000 38000
kfvf] 40000 36000 34000 32000
v]t 50000 46000 42000 38000
kfvf] 40000 36000 34000 32000
v]t 34000 32000 30000 28000
kfvf] 26000 24000 22000 20000
v]t 40000 36000 34000 32000
kfvf] 32000 28000 26000 22000
v]t 60000 54000 50000 46000
kfvf] 40000 36000 32000 28000

afx|lj;] gu/kflnsf

c/lgsf] /fhdfu{;+u hf]l*Psf] ;fljs /fDr] uf=lj=;= sf] j*f g+= 2 / 5 xfn afx|lj;] g=kf= j*f g+= 9 If]q leqsf #*]/L

hUuf k|lt /f]kgL ?= 40,00,000.– -rfln; nfv dfq_

o; gu/kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 16,00,000.– -;f]x| nfv dfq_

o; gu/kflnsf If]qsf j*f g+= 1, 2, 7 / 8 leqsf uf]/]^f] jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -

kf+r dfq_

#f]y{nL -1–4_

#'Dyfª

sy{nL

uftL

c/lgsf] /fhdfu{;+u hf]l*Psf ;fljs /fDr] uf=lj=;= sf] j*f g+= 7 xfn afx|lj;] g=kf= j*f g+= 9 sf #*]/L hUuf k|lt
/f]kgL ?= 40,00,000.– -rfln; nfv dfq _ / ;fljs afx|lj;] uf=lj=;= j*f g+= 1, 8 / 9 xfn afx|lj;] g=kf= j*f g+=
3, 4 sf #*]/L hUuf k|lt /f]kgL ?= 50,00,000.– -krf; nfv dfq_

;fljs /fDr] uf=lj=;= sf] j*f g+= 7 / ;fljs afx|lj;] uf=lj=;= sf] j*f g+= 1, 8 / 9 xfn afx|lj;] g=kf= j*f g+= 9, 3,

4 sf ahf/ If]qsf] leqL df]^/af^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 25,00,000.– -klRr; nfv dfq_

afx|lj;]–a'w]kf ;*s;+u hf]l*Psf ;fljs sy{nL uf=lj=;= j*f g+= 3, 7, 8 / 9 xfn afx|lj;] g=kf= j*f g+= 2 sf #*]/L

hUuf k|lt /f]kgL ?= 30,00,000.– -tL; nfv dfq_

gu/kflnsf
xfn sfod 

j8f g+=

;fljssf] 

uf=lj=;=

c/lgsf] /fhdfu{;+u hf]l*Psf ;fljs uftL uf=lj=;= xfn afx|lj;] g=kf= j*f g+= 5 / 6 If]qsf #*]/L hUuf k|lt /f]kgL ?=

40,00,000.– -rfln; nfv dfq_

/fDr]

dfg]Zjf/f

1

2

4

6

o; gu/kflnsf If]qsf j*f g+= 3, 4, 5, 6 / 9 leqsf uf]/]^f] jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 8,00,000.– -

cf& nfv dfq_

hUufsf] ljj/0f
k|lt /f]kgL

afx|lj;]

5 uftL
afx|lj;] 

gu/kflnsf

l;=g+=

7

8

9

afx|lj;]

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

2

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

3



1=

2=

3=

4=

5=

6=

7=

8=

cAan bf]od ;Ld rfxf/

v]t 70000 66000 64000 60000
kfvf] 40000 36000 34000 30000
v]t 70000 66000 64000 60000
kfvf] 40000 36000 34000 30000
v]t 40000 36000 34000 30000
kfvf] 30000 26000 24000 20000
v]t 130000 120000 110000 100000
kfvf] 50000 46000 42000 38000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 130000 120000 110000 100000
kfvf] 50000 46000 42000 38000
v]t 130000 120000 110000 100000
kfvf] 50000 46000 42000 38000

hL/f] lsnf]–d]nDrL ;*s;+u hf]l*Psf ;fljs d]nDrL uf=lj=;= j*f g+= 2 / 6 xfn d]nDrL g=kf= j*f g+= 11 sf] d]nDrL

ahf/ If]q leqsf #*]/L hUuf k|lt /f]kgL ?= 80,00,000.– -c;L nfv dfq_

d]nDrL gu/kflnsf

ysgL

l;Gw'sf]^

tfnfdf/fª

hUufsf] ljj/0f

ef]^]rf}/

7 b'jfrf}/
d]nDrL 

gu/kflnsf

ef]^]rf}/

x}a'ª

1

2

3

o; gu/kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 10,00,000.– -bz nfv dfq_

3

b'jfrf}/

4

5

6

l;=g+= gu/kflnsf
xfn sfod 

j8f g+=

;fljssf] 

uf=lj=;=

hL/f] lsnf]–d]nDrL ;*s;+u hf]l*Psf d]nDrL g=kf= sf cGo j*fdf kg]{ #*]/L hUuf k|lt /f]kgL ?= 60,00,000.– -;f&L

nfv dfq_

d]nDrL g=kf=sf] d]ndrL ahf/ b]lv ;fljs tfnfdf/fª uf=lj=;= xfn d]nDrL g=kf= j*f g+= 6 / dxf+sfn uf=lj=;= sf]
UofNy'd ->L ;/:jtL p=df=lj=_ ;Dd d]nDrL–x]nDa' ;*s;+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 40,00,000.– -rfln;
nfv dfq_

d]nDrL vfg]kfgL cfof]hgfsf] afx'g]kf^L–ef]^]rf}/ jf^f];+u hf]l*Psf ;fljs af+;jf/L, l;Gw'sf]^ uf=lj=;= xfn d]nDrL

g=kf= j*f g+= 12 / 5 Pj+ ysgL, x}a'ª / ef]^]rf}/sf #*]/L hUuf k|lt /f]kgL ?= 25,00,000.– -klRr; nfv dfq_

o; gu/kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 18,00,000.– -c&f/ nfv dfq_

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

k|lt /f]kgL

rf}tf/f–d]nDrL ;*s;+u hf]l*Psf] ;fljs lzv/k'/ j*f g+= 2, 3, 4, 5, 7 / 8 xfn d]nDrL g=kf= j*f g+= 10 sf #*]/L

hUuf k|lt /f]kgL ?= 25,00,000.– -klRr; nfv dfq_

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

8

d]nDrL–ef]tfª ;*s;+u hf]l*Psf ;fljs Hofld/] uf=lj=;= xfn d]nDrL g=kf= j*f g+= 9 sf #*]/L hUuf k|lt /f]kgL ?=

20,00,000.– -jL; nfv dfq_



v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000

d]nDrL 
gu/kflnsf

10

11

9

3

12

13

Hofld/]

lzv/k'/

d]nDrL

af+;jf/L

km^slznf



1=

2=

3=

4=

5=

cAan bf]od ;Ld rfxf/

v]t 40000 36000 34000 30000
kfvf] 28000 24000 22000 20000
v]t 70000 66000 62000 58000
kfvf] 40000 36000 34000 32000
v]t 70000 66000 62000 58000
kfvf] 40000 36000 34000 32000
v]t 70000 66000 64000 60000
kfvf] 40000 36000 34000 30000
v]t 120000 110000 100000 90000
kfvf] 40000 36000 34000 32000
v]t 120000 110000 100000 90000
kfvf] 40000 36000 34000 32000
v]t 54000 50000 46000 42000
kfvf] 34000 30000 28000 26000
v]t 54000 50000 46000 42000
kfvf] 34000 30000 28000 26000
v]t 50000 46000 42000 38000
kfvf] 32000 28000 26000 22000
v]t 50000 46000 42000 38000
kfvf] 32000 28000 26000 22000
v]t 130000 120000 110000 100000
kfvf] 70000 60000 50000 40000
v]t 130000 120000 110000 100000
kfvf] 70000 60000 50000 40000

o; ufp+kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -kf+r nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf v]tsf] #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg nfv dfq_

ef]^l;kf

l;kfkf]v/]

s'Grf]s

2 s'Grf]s

5 jf*]uf+p

7 l;kfkf]v/]

O{Gb|fjtL 
ufp+kflnsf

gjnk'/

12

;fljssf] 

uf=lj=;=

l;Dkfnsfe|]

hUufsf] ljj/0f
k|lt /f]kgL

4

1

9 ef]^l;kf

11

3

4

led^f/

ufp+kflnsf
xfn sfod 

j8f g+=

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

led^f/

jf*]uf+p

rf}tf/f–l;kf#f^ ;*s;+u hf]l*Psf ;fljs ef]^l;kf uf=lj=;= j*f g+= 1, 3, 4, ;fljs l;kfkf]v/] uf=lj=;= j*f g+= 2, 5,
7, 8 / ;fljs eLd^f/ uf=lj=;= j*f g+= 2, 4, 5 xfn O{Gb|fjtL uf=kf= j*f g+= 9, 7, 8, 12 sf #*]/L hUuf k|lt /f]kgL
?= 16,00,000.– -;f]x| nfv dfq_

O{Gb|fjtL ufp+kflnsf

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

rf}tf/f–d]nDrL ;*s;+u hf]l*Psf ;fljs s'Grf]s j*f g+= 2, 3 / 4, ;fljs gjnk'/ j*f g+= 1, 4, 5, 6, 7 / 9 xfn

O{Gb|fjtL uf=kf= j*f g+= 2 / 4 sf #*]/L hUuf k|lt /f]kgL ?= 15,00,000.– -kGw| nfv dfq_

6

8

10

l;=g+=

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf kfvfsf] #*]/L hUuf k|lt /f]kgL ?= 2,00,000.– -b'O{ nfv dfq_



1=

2=

3=

cAan bf]od ;Ld rfxf/

v]t 50000 46000 42000 38000
kfvf] 38000 34000 30000 26000
v]t 30000 26000 24000 22000
kfvf] 26000 22000 20000 18000
v]t 30000 28000 26000 24000
kfvf] 24000 22000 20000 18000
v]t 30000 28000 26000 24000
kfvf] 26000 24000 22000 18000
v]t 40000 36000 34000 32000
kfvf] 32000 28000 26000 22000
v]t 30000 26000 24000 22000
kfvf] 24000 22000 20000 18000
v]t 30000 26000 24000 22000
kfvf] 24000 22000 20000 18000

7

h'un ufp+kflnsf

5

;]nfª

5 h'un ufp+kflnsf

uf]Nr]

a/fDrL

4

l;=g+=

6 xufd

ufp+kflnsf
xfn sfod 

j8f g+=

;fljssf] 

uf=lj=;=

1

2

3 u'Daf

xufd

kfªtfª

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

hUufsf] ljj/0f
k|lt /f]kgL

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

o; ufp+kflnsf If]q leq df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -kf+r nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf v]tsf] #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf kfvfsf] #*]/L hUuf k|lt /f]kgL ?= 1,50,000.– -Ps nfv krf; xhf/

dfq_



1=

2=

3=

4=

cAan bf]od ;Ld rfxf/

v]t 40000 36000 34000 32000
kfvf] 32000 28000 26000 22000
v]t 34000 32000 28000 24000
kfvf] 30000 26000 24000 22000
v]t 30000 26000 24000 22000
kfvf] 24000 22000 20000 18000
v]t 60000 54000 50000 46000
kfvf] 30000 28000 26000 24000
v]t 34000 30000 26000 24000
kfvf] 28000 24000 20000 18000
v]t 130000 120000 110000 100000
kfvf] 60000 54000 46000 40000
v]t 40000 36000 32000 28000
kfvf] 30000 26000 24000 22000
v]t 40000 36000 32000 28000
kfvf] 30000 26000 24000 22000

yfªkfnsf]^4

a?jf

3

u'G;fsf]^5

2

kf+rkf]v/L ufp+kflnsf

d]nDrL–ef]tfª ;*s;+u hf]l*Psf ;fljs ef]^]gfDnfª, nfur]{, yfªkfnwfk, yfªkfnsf]^ / ef]tfª uf=lj=; sf #*]/L

hUuf k|lt /f]kgL ?= 10,00,000.– -bz nfv dfq_

ef]tfª

1 jf+;vs{

6

6
kf+rkf]v/L 
ufp+kflnsf

ef]^]gfDnfª7

nfur]{8

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

l;=g+= ufp+kflnsf
xfn sfod 

j8f g+=

;fljssf] 

uf=lj=;=
hUufsf] ljj/0f

k|lt /f]kgL

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

o; ufp+kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -kf+r nfv dfq_

yfªkfnwfk

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf v]tsf] #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf kfvfsf] #*]/L hUuf k|lt /f]kgL ?= 1,50,000.– -Ps nfv krf; xhf/

dfq_



1=

2=

3=

4=

5=

6=

cAan bf]od ;Ld rfxf/

v]t 130000 126000 120000 110000
kfvf] 80000 70000 60000 50000
v]t 50000 46000 42000 38000
kfvf] 40000 36000 32000 28000
v]t 50000 46000 42000 38000
kfvf] 40000 36000 32000 28000
v]t 50000 46000 42000 36000
kfvf] 40000 36000 32000 28000
v]t 50000 46000 42000 36000
kfvf] 40000 36000 32000 28000
v]t 70000 66000 64000 60000
kfvf] 40000 36000 34000 30000
v]t 70000 66000 64000 60000
kfvf] 40000 36000 34000 30000
v]t 70000 66000 64000 60000
kfvf] 40000 36000 34000 30000

an]kmL ufp+kflnsf

km'lNkª*f+*f

6 df+vf

km'lNkªsf]^

km'lNkª*f+*f

8

3

5

7

df+vf

df+vf

7
4

an]kmL–hnlj/] ;*s;+u hf]l*Psf ;fljs hnlj/] uf=lj=;= j*f g+= 4 / 5 xfn an]kmL uf=kf= j*f g+= 1 sf] hnlj/]

ahf/ If]q leqsf #*]/L hUuf k|lt /f]kgL ?= 30,00,000.– -tL; nfv dfq_

hnlj/]

an]kmL ufp+kflnsf

c/lgsf] /fhdfu{;+u hf]l*Psf ;fljs km'lNkª*f+*f, df+vf uf=lj=;= sf #*]/L hUuf k|lt /f]kgL ?= 40,00,000.– -rfln;

nfv dfq_

1

2 km'lNkªsf]^

an]kmL–hnlj/] ;*s;+u hf]l*Psf ;fljs hnlj/] uf=lj=;= sf cGo If]q, kmlNkªsf]^, km'lNkª*f+*f uf=lj=;= If]q leqsf

#*]/L hUuf k|lt /f]kgL ?= 20,00,000.– -jL; nfv dfq_

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

o; ufp+kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -kf+r nfv dfq_

l;=g+= ufp+kflnsf
xfn sfod 

j8f g+=

;fljssf] 

uf=lj=;=
hUufsf] ljj/0f

k|lt /f]kgL

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf v]tsf] #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf kfvfsf] #*]/L hUuf k|lt /f]kgL ?= 1,50,000.– -Ps nfv krf; xhf/

dfq_



1=

2=

3=

4=

cAan bf]od ;Ld rfxf/

v]t 32000 28000 26000 22000
kfvf] 26000 24000 22000 20000
v]t 30000 28000 26000 24000
kfvf] 26000 24000 22000 20000
v]t 30000 28000 26000 24000
kfvf] 26000 24000 22000 20000
v]t 40000 36000 34000 32000
kfvf] 32000 28000 26000 22000
v]t 34000 32000 28000 24000
kfvf] 30000 26000 24000 22000

dfld{ª

xfn sfod 

j8f g+=

ln:tLsf]^

;fljssf] 

uf=lj=;=

eff]^]sf]zL ufp+kflnsf

c/lgsf] /fhdfu{;+u hf]l*Psf ;fljs km'lNkªs^\^L, dfld{ª / tftf]kfgL uf=lj=;= If]qsf #*]/L hUuf k|lt /f]kgL ?=

40,00,000.– -rfln; nfv dfq_

1

3

4

5

l;=g+= ufp+kflnsf hUufsf] ljj/0f
k|lt /f]kgL

ef]^]sf]zL 
ufp+kflnsf

tftf]kfgL

2 tftf]kfgL

8

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

o; ufp+kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -kf+r nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf v]tsf] #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf kfvfsf] #*]/L hUuf k|lt /f]kgL ?= 1,50,000.– -Ps nfv krf; xhf/

dfq_



1=

2=

3=

4=

cAan bf]od ;Ld rfxf/

v]t 50000 46000 42000 38000
kfvf] 38000 34000 32000 30000
v]t 50000 46000 42000 38000
kfvf] 38000 34000 32000 30000
v]t 50000 46000 42000 38000
kfvf] 38000 34000 32000 30000
v]t 40000 36000 32000 28000
kfvf] 26000 24000 22000 20000
v]t 60000 54000 50000 46000
kfvf] 30000 28000 26000 22000
v]t 40000 36000 32000 28000
kfvf] 26000 24000 22000 20000
v]t 50000 46000 42000 38000
kfvf] 40000 36000 32000 30000

ln;+v'

ln;+v'kfv/ ufp+kflnsf

l;=g+= ufp+kflnsf

 -&'nf] wflbª_ 
uf]nfªvf]nf

1

&'nf]kfv/

 -cQ/k'/_ 
uf]nfªvf]nf

xfn sfod 

j8f g+=

;fljssf] 

uf=lj=;=

4

3

9
ln;+v'kfv/ 
ufp+kflnsf

h]&n

7

5

6

 -cQ/k'/_ 
uf]nfªvf]nf

2

k]*\s'

nfdf];f+#'–lh/L ;*s;+u hf]l*Psf ;fljs h]&n, &"nf]kfv/ uf=lj=;= If]qsf #*]/L hUuf k|lt /f]kgL ?= 30,00,000.– -

tL; nfv dfq_

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

hUufsf] ljj/0f
k|lt /f]kgL

o; ufp+kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -kf+r nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf v]tsf] #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf kfvfsf] #*]/L hUuf k|lt /f]kgL ?= 1,50,000.– -Ps nfv krf; xhf/

dfq_



1=

2=

3=

4=

5=

cAan bf]od ;Ld rfxf/

v]t 50000 46000 42000 38000
kfvf] 40000 36000 32000 30000
v]t 50000 46000 42000 38000
kfvf] 40000 36000 32000 30000
v]t 54000 52000 50000 48000
kfvf] 40000 38000 36000 34000
v]t 50000 46000 42000 38000
kfvf] 30000 26000 24000 22000
v]t 50000 46000 42000 38000
kfvf] 30000 26000 24000 22000
v]t 60000 54000 48000 38000
kfvf] 40000 36000 32000 30000
v]t 70000 66000 60000 54000
kfvf] 46000 42000 38000 34000

y'Dkfv/

 -od'gf*f+*f_ 
b]lj:yfg

7 kfªu|]^f/

x]nDa' ufp+kflnsf

 -;'gvfgL_ 
b]lj:yfg

1

10
;'gsf]zL 

ufp+kflnsf
4

5

6

;'gsf]zL ufp+kflnsf

nfdf];f+#'–lh/L ;*s;+u hf]l*Psf ;fljs y'Dkfv/ / kfªu|]^f/ uf=lj=;= If]qsf #*]/L hUuf k|lt /f]kgL ?= 30,00,000.– -

tL; nfv dfq_

&f]skf{–r]x]/] ;*s;+u hf]l*Psf sflnsf / &f]skf{ uf=lj=;= sf #*]/L hUuf k|lt /f]kgL ?= 15,00,000.– -kGw| nfv dfq_

sflnsf3

&f]skf{

2 &f]skf{

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

l;=g+= ufp+kflnsf
xfn sfod 

j8f g+=

;fljssf] 

uf=lj=;=
hUufsf] ljj/0f

k|lt /f]kgL

o; ufp+kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -kf+r nfv dfq_

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf v]tsf] #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf kfvfsf] #*]/L hUuf k|lt /f]kgL ?= 1,50,000.– -Ps nfv krf; xhf/

dfq_



1=

2=

3=

4=

cAan bf]od ;Ld rfxf/

v]t 40000 36000 32000 28000
kfvf] 28000 24000 22000 20000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 150000 140000 130000 120000
kfvf] 54000 50000 46000 42000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000
v]t 150000 140000 130000 120000
kfvf] 70000 60000 50000 40000

ltDa'n£ofªu'n     

-x]nDa'_

4 dxf+sfn

6 O{rf]s

11 x]nDa' ufp+kflnsf

1

2

3

5

7

kfNrf]s

O{rf]s

lqk'/f;'Gb/L ufp+kflnsf

lspn

d]nDrL–x]nDa' ;*s;+u hf]l*Psf ;fljs dxf+sfn, Orf]s / ltDa'n£ofªu'n uf=lj=;= If]qsf #*]/L hUuf k|lt /f]kgL ?=

20,00,000.– -jL; nfv dfq_

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

l;=g+= ufp+kflnsf
xfn sfod 

j8f g+=

o; ufp+kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -kf+r nfv dfq_

;fljssf] 

uf=lj=;=
hUufsf] ljj/0f

dxf+sfn

k|lt /f]kgL

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf v]tsf] #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf kfvfsf] #*]/L hUuf k|lt /f]kgL ?= 1,50,000.– -Ps nfv krf; xhf/

dfq_



1=

2=

3=

4=

cAan bf]od ;Ld rfxf/

v]t 34000 32000 30000 28000
kfvf] 26000 24000 22000 20000
v]t 40000 36000 34000 30000
kfvf] 28000 24000 22000 20000
v]t 50000 46000 42000 38000
kfvf] 40000 36000 32000 28000
v]t 40000 36000 32000 28000
kfvf] 26000 24000 22000 20000
v]t 40000 36000 34000 30000
kfvf] 30000 26000 24000 22000
v]t 60000 54000 50000 46000
kfvf] 34000 30000 26000 24000

!=

 @=

#=

$=

%=

5

1 #f]y{nL -5–9_

4

6 ^]sgk'/

lk:s/

rf]s^L

w':s'g

vl/('ª\uf–tf}ynL ;*s;+u hf]l*Psf ;fljs tf}ynL uf=lj=;= j*f g+= 1, 2, 3, 4, 5 / 6 sf] xfn lqk'/f;'Gb/L j*f g+= 5

#*]/L hUuf k|lt /f]kgL ?= 15,00,000.– -kGw| nfv dfq_

2

3

tf}ynL

l;=g+=

lqk'/f;'Gb/L 
ufp+kflnsf

12

uf=kf=÷g=kf=÷j8f sfof{no sf] l;kmfl/; tyf lnvtdf af6f] k|sf/ h:t}M /fhdfu{, ;xfos /fhdfu{, sfnf] kq]

;8s, df]6/af6f], sRrL ;8s, uf]/]6f] af6f], 3/, uf]7 cflb h] 5 :ki6 pNn]v ug'{ kg]{5 . jf:tljs ljj/0f

km/s kf/L sfo{nonfO{ /fhZj 5Ng] lgotn] Go"gtd d"No eGbf 36L u/L lnvt kfl/t u/fPsf] s'/f kl5

sfof{nonfO{ h'g ;'s} Joxf]/fjf6 hfgsf/L x'g cfPdf gk'u /fhZj ;DalGwt JolQmsf] jf lghsf] kl/jf/sf]

gfdsf] 3/ hUufx? /f]Ssf /fvL ;/sf/L afFls ;/x c;'n pk/ ul/g] 5 .

=

v_ dfyL v)* -s_ df pNn]v eP afx]sdf hUufsf] lsl;dsf] cfwf/df sfod ul/Psf] hUufsf] Go"gtd d'Nofª\sg

s_ ;*s¿jf^f];+u hf]l*Psf] #*]/L hUufsf] Go"gtd d'Nofª\sg

ufp+kflnsf
xfn sfod 

j8f g+=

;fljssf] 

uf=lj=;=
hUufsf] ljj/0f

k|lt /f]kgL

 -@_ Wofgfsif{0fsf ljifoj:t'

o; lhNnf cGt/u{t ;Dk"0f{ uf=lj=;= / gu/kflnsf leqsf hUufx?sf] lnvt kfl/t ubf{ clgjfo{ ?kdf

ufp+kflnsf÷gu/kflnsf÷j8f sfof{nosf] 3/ jf6f]sf] l;kml/; cfjZos kg]{5 . 3/ eP 3/sf] s/ r'Qmf

/l;bsf] k|ltlnkL / 3/sf] xfn sfod d"No ;d]t pNn]v u/L k]z ug'{ kg]{5 . =

lhNnf leqsf] s'g} :yfgsf] d"NofÍg ug{ 5'6]sf] b]lvPdf cf+7f ;/xsf] d"NofÍg ul/g] 5 .

o; ufp+kflnsf If]q leq cGo df]^/ jf^f];+u hf]l*Psf #*]/L hUuf k|lt /f]kgL ?= 5,00,000.– -kf+r nfv dfq_

38]/L hUuf eGgfn] /fhdfu{, df]6/ jf6f] / uf]/]6f] jf6f]df hf]l8Psf] @% ld6/ leq;Ddsf] hUufnfO{ hgfpg] 5 .

=

kfl/t x'g] lnvtdf Go"gtd y}nL c+s sfod ubf{ /fhdfu{, df]6/ jf6f] / uf]/]6f] jf6f]df hf]l8Psf] hUuf @%

ld6/ jfx]sdf cfjfbL jf le/ kfvf]sf] ?kdf k|of]u x'g] hUuf xf] eg] /lhi6«]zg kfl/t ul/ lng] / lbg]n] ;f]

Joxf]/f v'nfO{ k]z u/]df gfkL sfof{nojf6 @% ld6/ leq kg]{ 38]/L hUufsf] If]qkmn Plsg u/fO{ ;f] sf] 38]/L

hUufsf] d'No / afFsL hUufsf] xsdf h'g k|sf/sf] jf6f] sfod 5, ;f]xL k|sf/sf] jf6f]sf] d'No sfod ul/g] 5 .

olb s'g} k|sf/sf] jf6f] 5}g eg] cfjfbL hUufsf] lsl;d cg';f/sf] Go"gtd d'No sfod ul/ y}nL c+s sfod

ul/g] 5 . =

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf v]tsf] #*]/L hUuf k|lt /f]kgL ?= 3,00,000.– -tLg nfv dfq_

o; ufp+kflnsf If]q leq uf]/]^f] jf^f];+u hf]l*Psf kfvfsf] #*]/L hUuf k|lt /f]kgL ?= 1,50,000.– -Ps nfv krf; xhf/

dfq_



^= e"ld ;DalGw P]g, @)@! adf]lhd xbaGbL x'g] u/L lnvt kfl/t ul/g] 5}g .


